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Pre-Algebra
Lesson: May 14, 2020

Objective/Learning Target:
| can investigate slope and understand it as the constant rate
of change between two variables.



Warm-U P.- Answers on next slide
Describe how to go from the Sunken Ship to the Boat.
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Warm-Up: Answer Key

Sunken Ship
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http://www.youtube.com/watch?v=zihsQC0IUd8

Four Types of Slope

A positive slope increases from left to right

A negative slope decreases from left to right

An undefined slope is a vertical line
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How To: Count Slope from a Graph

f
Find the slope of each line. Move from (=2, =1} to (2, 4): )
a) y Vertical change = 4 — (—1)
A = 5 units

Horizontal change = 2 — (=2)
4+ | = 4 units

So, the rise is 5 units, and the

run is 4 units.

J

Solution

The graph passes through the points (=2, —1) and (2, 4).
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How To: Count Slope from a Graph
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Solution

The graph passes through the points (=3, 3) and (1, —1).

Rise

Sl = —
oRe Run
_ =1=3

"1 -(=3)

4 I
Move from (=3, 3) to (1, —=1):

Vertical change = =1 =3

= =4 units

Horizontal change = 1 = (=3)
= 4 units

So, the rise is —4 units, and
the run is 4 units.

The slope is —1.
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Practice 1: Answers on next slide
F|nd the S|Ope Of eaCh I|ne (Two points along the line are given. Assume the x- and y-scales are both 1.)
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Practice 1:

Answer Key
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If you're given two points (x1, y1) and (%2, v2),

the slope of the line that passes through

the points is:

¥ ==
L Sl &

Slope =

When using the formula, follow the steps below:
Step 1: Label the points.
Step 2: Plug the values into the formula.

Step 3: Write the slope as a simplified fraction.



How To: Use Slope Formula
Find the slope of the line through the points (2,5) and (4,8).

Step 1: Label the points. It doesn't matter which one you pick as "Point 1" and "Point 2."

Remember the x's are listed first in an ordered pair and the y's are listed second.

(2,5) and (4,8)
A K A K
X1 Y1 X2 Y2

Step 2: Plug in the values. Subtract the y's on the top, subtract the x's on the bottom. Make sure

to subtract in the same order in the numerator and denominator.

Sopess WA 270 ]}
Xo — X1 4 - 2 2

Step 3: Make sure your answer is simplified. 3/2 cannot be reduced, so we leave the answer as

3/2.



NOW YOU Try Use the SlOpe FormUIa Answer provided on the next slide.

Find the slope of the line that passes through
(9, 1) and (5, 6). Simplify your answer and
write it as an improper fraction, proper
fraction or an integer.
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Now You Try: Use the Slope Formula

Find the slope of the line that passes through
(9, 1) and (5, 6). Simplify your answer and
write it as an improper fraction, proper
fraction or an integer.
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Example 1: Comparing Slopes

The graphs give information about the distance, d miles, traveled over time, t hours, by
cars and trucks on a highway. Which graph shows a slower constant rate of change (slope)?

d Speed for Trucks

d Speed for Cars
A

A
o ® (2, 100)
v — 1 “4 ¥ -
5% " (1.5, 100) 3 100
2= 1501 2= 50+
o i ] o i T
Y Time (h) v Time (h)
Rate of change:
Solution: The rate of
15-0 15 03 1 2~=0. 2 1 slower for the trucks.



Practice 2: Answer provided on the next slide.

The graphs represent the amount of water, w gallons, over time, t hours, in Pools A and B.
Which graph shows a faster constant rate of change (slope), despite the water level?

w Filling Pool A W Draining Pool B

Amount of Water
(gal)
o Mo
o o
Amount of Water
(gal)
=
S

A
Y
“

Y Time (h) v Time (h)



Practice 2:

The graphs represent the amount of water, w gallons, over time, t hours, in Pools A and B.
Which graph shows a faster constant rate of change (slope), despite the water level?

w Filling Pool A W Draining Pool B

Amount of Water
(gal)
o Mo
o o
Amount of Water

A

> .
of 1 2 3 4

Y Time (h) v Time (h)

Answer: Pool A is filling at a rate of 45 gal/hr, Pool B is draining at a rate of 37.5 gal/hr.
Thus, Pool A has a faster constant rate of change.



Exit Ticket: Show what you know!
Answer each of t

Answers on next slide

ne questions below.
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Which line(s) has/have a
positive slope?

Which line(s) has/have an
undefined slope?

Which line(s) has/have a
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Exit Ticket:

Answer Key

. Which line(s) has/have a

positive slope?

red purple

. Which line(s) has/have an

undefined slope?

orange

 Which line(s) has/have 3



Additional Resources:

Find the Slope Between Two Points - Online Practice

Find the Slope of a Graph - Online Practice

Practice Slope - Khan Academy



https://www.mathgames.com/skill/8.32-find-slope-from-two-points
https://www.mathgames.com/skill/8.41-find-the-slope-of-a-graph
https://www.khanacademy.org/math/algebra/x2f8bb11595b61c86:linear-equations-graphs/x2f8bb11595b61c86:slope/e/slope-from-a-graph

